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Finding Division Remainders Name:
Use multiplication rulesto determine the missing remainder for each problem. Answers
81+2=40r 2) 990 +2=495r
1.
2.
79 +5=15r 4 69+ 10=6Tr
3.
4.
46 +5=9r 6) 4,809 +5=0961r
5.
6.
85+2=42r 8 34+2=17r
7.
8.
679 + 10 = 67 r 10) 49+ 10=14r
9.
10.
526 + 10 = 52 r 12) 8,016 + 10 =801
11.
12.
458 +5=91r 14) 70+ 5=14r
13.
14.
817 +10=81r 16) 31+5=6Tr
15.
16.
7,188 + 2 = 3,594 r 18) 43+5=8r
17.
18.
74 +2=37r 20) 751+ 10=75r
19.
20.
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Finding Division Remainders Name Answer Key
Use multiplication rulesto determine the missing remainder for each problem. Answers

8l+2=40r_ 1 2) 990 +2=495r O

L 1

2 0
79+5=15r 4 4 69+10=6r_9

3 4

4 9
46 +5=9r_1 6) 4809 +5=961r 4

5. 1

6. 4
856+2=42r 1 8 34+2=17r O

7. 1

8. 0
679 +10=67r_9 10) 49+ 10=4r_ 9

0. 9

10 9
526 + 10 =52r_ 6 12) 8,016 + 10 =801r 6

11. 6

12 6
458 + 5=901r_ 3 14) 70+ 5=14r 0

13, 3

14. 0
817+10=81r 7 16) 31+5=6r_1

15. 7

16. 1
7,188 +2=3594r O 18) 43+5=8r_ 3

17. 0

18. 3
74+2=37r O 20) 751 +10=75r 1

19. 0

20. 1
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